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Quiz

Let A, B € R"™™ and W € R™*™:
h
1. How is det(A) related to det(7A)? det (7 A) =7 de{(A)

2. The determinant is only defined for square matrices

. . . . . N - A '(S V\O‘{'
3. If two rows or columns of A are identical, det(A) =0 H N erdible

4. Applying elimination matrices on A doesz_t change det(A) T ALSE
_> mouy ch ar\ge ffgq O ('.{ we (nluoe ™Mu p%;ng vow by scatar, also by Scadar

5. det(A) = — det(AT) FALSE , oletA =oleTAT (ree next poge)
(ree next pogpe)

6. det(AB) = det(B) det(A)
7. det(A2) = det(A) det(A) (6. «pplicd on AB=A K)
8. det(A~l) = —L_ 1= cled (T)= ded (ka™") =ocled(d) oedA )

— det(A) . L
= ole{(A™ )= 1A
90 WWHt=TorWtW =1 FALSE. Orv&(3 'wf M cobuma ov row ranl
=S See weele 40, xt=w*b s&il0 hos nee Praserhes!

10. If W has full column rank, W7 W has full row rank and is surjective
—D see weele 19, wWTW hos bl vorke and (s inveriibo (e

11. If W has full row rank, m > n and W is surjective T ALSE, ™ MY be
smalle- Haon n



The deleerminont
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Most imporkant properhes
/l> Linear in each coblemn [row
2) Swapping columns|vows choages sign

3) det A doesid chonge § we add mulhiple of one ch%{n,,,

to oo ther
) dek A0 & Ais inerdtilble

5) def A=ded AT
0) ded(B)= ded(d) cled®)

7) dek (o A) = X ded (A
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Deviving the formal de finilion
I |
D((on( -t ) A= [45{4 a]»]
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The obowe delnilion can be used to Lo Lorowlas Lor
the olederminanl of 2xL or 3X3 mod-ices .

However: Donl use if d,{«ec(&i 12@‘( compJQHoms!
T he @O@fowng p cQde has ”I‘WO medtoos QOV COM/OU‘-/A% ded A .
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COYY!_P ex Numbers

AmY 2 ¢ € heag e form z=oa+« B wheae (2=-A1.
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Eiq\enva Cues and @ gen vectors
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